
Strecke St. Rudolf – Rinckenstadt 

Mbr für 40 km/h =    60 R/P 

für 60 km/h =    82 R/P 

 für 80 km/h = 108 R/P 

 

1 2a 2b 2c 2d 3a 3b 4a 4b 4c 4d 
 40 60 80  

Betriebsstelle 

Lage 
In km 

40 60 80  
 km/h km/h 

ab km km/h km/h km/h km/h Min Min Min Min 

 40 40 40  - ZF GSM-R -      
     Bf St. Rudolf 21,1     
     Asig 21,1     

20,9     ¥ 20,9     

  60 80        
17,6           

   60        
16,9           

  40 40        
     Jagtstand T.  16,6     

16,4      16,4     
  60 80        

14,6     Esig 14,6     
   60        
     Rinckenstadt 14,1 10 7 6  
     Asig 14,1     
     (Asig) 14,0     

 

  



Strecke Rinckenstadt – St Rudolf 

Mbr für 40 km/h =    56 R/P 

für 60 km/h =    76 R/P 

 für 80 km/h =    99 R/P 

 

1 2a 2b 2c 2d 3a 3b 4a 4b 4c 4d 
 40 60 80  

Betriebsstelle 

Lage 
In km 

40 60 80  
 km/h km/h 

ab km km/h km/h km/h km/h Min Min Min Min 

 40 60 60  - ZF GSM-R -      
     Rinckenstadt 14,2     
     Asig 14,2     
     ¥ 14,4     

14,6           
   80        

16,4           
  40 40  Jagtstand T.  16,4     
      16,6     

16,9           
  60 60        

17,6           
   80        
     Esig 20,7     

20,7           
  40 40        
     St. Rudolf 20,8 10 7 6  
     Asig 20,8     

 

 


